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(2)

(b) As per cardinal neasurement of utility
consuming one commodity a consumer
gets maximum satisfaction when

() marginal consumer surplus is
equal to zero

(i) price is equal to marginal utility

(iii)

(iv)

marginal utility is equal to zero
All of the above

(c) The convexity of an indifference curve is
given by

()  the quantity of commodity x and

Y S verse T T e
consumption
() the mar

ginal rate of substitution
between x ang Y is decreasing

(iii) Both (1) and (i1)
(tv) None of the above

(d) For Giffen goods

(1) Substitution effect is
Income effect

(ii) Substitution

greater than

: effect is equal to
INncome effect
(i) Substitution effect is less than
" Income effect
(iv) None of the above
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2. Write short notes on any four of the following

(within 150 words

(@)

(b)
()
(d)
(e)

Answer

S00 words each) :

3. (a)

(b)

4. (a)

(b)
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Significance of assumptions in economic
analysis

Marginal rate of substitution
Engel’s curve
Return to scale

Economies of scale
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